TR - Nt (FHefard AR IRFaHARRF o) - 55 F.1411

TECHNICIAN - B (MECHANIC MOTOR VEHICLE/MECHANIC DIESEL)
- POST NO.1411

1. 9Rd A e fARoT & AT gy Fearadh arT Hra3mghy ......... J

Frequency of alternating current for domestic distribution in India is

a.230 v
b.240 V
c.60 Hz
d. 50 Hz

2. 3aRrRNafe T o F fafead s F v g

An intercooler is to cool

a. ol d1dl/engine body
b. INUT arF/suction air
c. Ardereh/coolant

d. &fs=t/cabin

3. §T&T TFF oo & AU & AT gged g gl
Bourdon tube is used for the measurement of

a. di9ATeT/temperature

b. 9T T/ fuel level

C. ald/pressure

d. argeT &Fr arfd/vehicle speed

4. AEATAET # @ HlA-A1 GelicHs [aEAIeT 9 8 82
Which is NOT a positive displacement pump

a. AR 99/gear pump
b. 3T 99/vane pump
c. SRITH Yd/diaphragm pump

d. 379%R&T 99/centrifugal pump



5. Ueh R & glel 81T 91aT T Tl v GART ST ST Fehell &l
Wheel horse power of a car can be found out using

a. qraX HIe/power meter

b. FekIFAEI/calorimeter

c. STAAIEI/dynamometer
d. ceifa#Tet/planimeter

6. Ueh HTERET H 3602 ......c...e... gl
The purpose of a carburettor is to

a. YT A9 A A FaAl/reduce fuel temperature
b. §us T ag & [AeTA/combine fuel and air
c. TATH 39 aAT/produce spark

d. 9T e =T/ filter fuel

7. 9 Ueh 3eAIRd MR A 1T 2 & Scal JaT &, T e grar &l

When an automotive gear is shifted from 1* to 2™
a. 3Ifd @ eie dedT g/speed and torque increases
b. 31fd Sgar g efe Tedr g/speed increases and torque decreases
c. 3ifd sgdr §, efe TATT I §/Speed increases, torque remains same
d. 39ded & & &I #AE/None of the above

8. Th 4 T St & AU Th AYOT FHATA URhAT T #RA 8 hep-Ae H fahcer Bl a=
AT BI?

For a 4-stroke engine to complete one full operating cycle, how many degrees would have the
crankshaft rotated?

a. 180°
b. 360°
c. 540°
d. 720°



Orifice meter measures
a. gld/Pressure
b. 9arg c¥/Flow rate
c. ATET d9/Mean velocity

d. ITdT/ Viscosity

10. M8 Vol 838 see & forw fagamnT TaR & 3

Open end spanner size for M8 hexagonal headed bolt is

a. 8
b. 10
c. 12
d. 13

11. frxr Fsfod arferd At 7 & Fselr ... A deey gl
In compound wound starting motors, the field coil is connected
a. TR & FATA/Parallel to the armature
b. 3T & AT Hol/in series with the armature

c. TR & FATR T Aot gt #H/both parallel and series with the armature
d. 3@3&? # ¥ $1$ gi/none of the above

12. 9 TOTest <R & giar g, ad fRAfest &1 3madd ... giar &l

Volume of cylinder when piston is at TDC is

a. AT 3MIAe/swept volume

b. [FeI¥H 3MId/clearance volume
c. $ofef fa¥uTTet/engine displacement
d. ¥ee [Ferad@/piston clearance



13. SEEER e, garT arferd gl

Turbocharger is driven by

a. $heh-2loe & TR 318d/gear drive from the crank shaft
b. $he-eire & el Feer/direct connection to crank shaft
c. XgsT A/exhaust gas

d. HH-AMFE & I T TAhe Z18d/chain and sprocket drive from camshaft

14, QT STAT A ghel H AA(AS) ..o & forT fAemar Jrar an

In earlier days, lead was added to petrol to

a. §5TeT TYUT &I &a aal/Lower engine friction
b. SISl & Uglel &l el aai/Distinguish petrol from diesel
c. 9GNUT & @isi/Lower pollution

d. 3T Gdise eI o7 # TN @aA/Use it in high compression ratio engines

15. s dig T 30 Al I TR § ORMET Srar g1 o A dig & ARG @1 oferser Q9 qar |
g =10 m/s* AT
A ball is dropped from top of a 30 m tall tower. Find the approximate velocity at which the ball
would hit the ground. Consider g = 10 m/s’

a. 24 m/s
b. 32 m/s
c. 18 m/s
d. 16 m/s

16. 3MYfeIsh HRT F oTal HT e Fellel & T TFFd ety ... gl

Material used to make the piston of engines in modern cars is

a. Yrdol/Brass
b. &orar oligl/Cast Iron
c. TIfAfATH fAsEg/Aluminium alloy

d. fRsreTq gEard/Alloy steel



17. GRS wrhfaesh g (Fwarsh) ............... gl
Compressed natural gas (CNQG) is

a. $s7/Ethane
b. S9=A/Propane

c. #:AA/Methane

d. 3?{1% Tt &1 fAUT/Mixture of all of the above

18. gaaTfeid s JoTelt & el (ERd) arg it epreet v afsear a1 ed ol

Operation of removing trapped air from the hydraulic braking system is known as

a. FUTeIA(g o)/ Trapping
b. e (FelifaaT)/Cleaning
c. farasT (S eT)/ Tapping

d. gauT (selif3an)/Bleeding

19. 3y AT F CO 3cHAT e % PROT gl
The condition that results in large quantities of CO emission

a. &gl & GRIeT ag &1 &N/ Insufficient air during combustion
b. €8T & T é’ﬂ?r 1 AV Insufficient fuel during combustion
c. faF1 A gg=/Low temperature combustion

d. 3Tg a9 &ge/High temperature combustion

20. 71 & TFd 3T & FHONAROT & AT Ggered JiobeT T ............... FEd ol

The device for smoothening out the power impulses from the engine is called

a. Ferd/Clutch
b. AN (FEwferrrer)/Differential

c. FesegTal/Flywheel
d. TI% gcarade/Torque converter



21. T IR T UGS SoTel I TS I FATA ... gl
The compression ratio of a four-stroke petrol engine is nearly
a. 4:1
b. 12:1
c. 16:1
d. 20:1

22. AleT & AT H FT & FIUATH I Gl TCh ... gl

The component in the radiator of an automobile that increases the boiling point of water is

a. f9T# ©eeT/Drain plug
b. ¥AfEEE/Thermostat
c. f@aTa area/Vacuum valve

d. 31§ F9/Pressure cap

23. Sedl &7 &TAAT ATUROTTAT ..., H g Srar gl
The capacity of a battery is usually expressed in terms of
a. drec/Volt
b. UTFIIY/Ampere
c. AR/Weight

d. ¥R ger/Ampere hour

24. FR F A F @S W FeaTer F afgdt FHa .o, FEd ol

Tilt of wheels from the vertical, when viewed from the front of the car, is called

a. drc/Caster
b. shex/Camber
c. & 3+1/Toe in
d. € 313</Toe out

25.mﬁ§0wﬁ§3wmwm% ................. |

An under-inflated tyre will show tread wear

a. §eT & ur@/Near the centre
b. fFaIRT & 9r@/Near the edges
c. urfieder fgam3it #/In the lateral direction

d. 3reTIEy f&em #/In the cross direction



Odometer measures

a. oteT I fI/engine speed

b. argsT Fr aifd/vehicle speed

c. dF T 7§ gl/distance covered
d. $&sT 39HET/fuel consumption

27. FR H AGAT GRIeIarel 3THI0T ... & dMAT F geaidr gl
The temperature indicating instrument in a car indicates the temperature of

a. $ofel TU¥C1/Engine piston
b. 51T fafeisX/Engine cylinder
c. Igh éﬂ/Lubricating oil

d. efrafera/Coolant
28. 18 V EIET (a13) oyl H fohdet Al 87
How many cells are there in an 18 V lead acid battery?

a. 18
b.6
c. 12
d. 9

29. 80 TTCTRAT BT ..o I H ST AT
80 Percent can be expressed as a ratio

a. 1:2
b.2:3
c.4:5
d. 1:5

30. YR AT e F IRT Fhep-QAFe T ST AT &

The starter motor is connected to crankshaft through

a. 9o 318d/Chain drive

b. @R 318a/Gear drive

c. ol doc 3r3d/Flat belt drive
d. dr dec 3Ea/V-belt drive



31. I IC 7 o ToFora® 3Tl & ST STl §, o FWSe 3T ............. g

If clearance volume of an IC engine is increased, the compression ratio will

a. 9¢3M/Increase
b. ¢3M/Decrease
c. AT {gaM/Remain constant
d. Eﬂﬂ?—f # & FI$ 71/ None of the above
32. $heh-AME & HET SANT & & H YIFd dARI H TPR ........... gl

Type of bearing used as main bearing of crankshaft is

a. Stel SgR31/Ball bearings

b. Steer sR3T/Journal bearings

c. siigel el dIRM/Needle roller bearing
d. TR WeR s7f@1/Taper roller bearing

33. $hehehd T cTofcl T GROMA.......... giaT &1

Crankcase dilution leads to

a. AfFT A gef/Increase in power

b. 51T del ITAAT H HH/Loss of engine oil viscosity
c. 3T 3cdolel/Higher emission

d. AFTIR 3caatel/Lower emission

34. AT &TAAT &<, UeieT Sofel T Jolell H SIoTel Solel dN .......... HT FETHT gl

For the same capacity, diesel engines as compared to petrol engines, require

a. AT Felrscgret/heavier flywheel

b. g wemmscerel/lighter flywheel

c. AT 3R & Fellscgrel/Same size flywheel

d. FeISegTe sigiNo flywheel



35. uTRT 1 AAERIT a3t &7 ha gieie 1 g fhar ST g2

Which unit is used to specify a capacitor?
a. Ohm

b. Sfet/Joule
c. Be/Farad

d. T&a/Tesla

36. JEAEsd H ... & foT gares I8 gl

In automobiles, balancing is required to

a. gAJ Hh-AMFE & S3cd I Fglel/Increase inertia of the rotating crankshaft
b. IR TR TAT F TEE T §T FA B A

Reduce vibration by cancelling out unbalanced dynamic forces
c. mgﬁaxﬂﬁ%aﬁaﬁmgmgmﬁmm

Reduce vibration by cancelling out unbalanced static forces

d. TS gSTATT HI Felel/Increase sprung mass

37.205/50 R16 87V # 3ifeh T T ured W ............... gl
Side wall of a tyre designated as 205/50 R16 87V is

a. 205 . /mm
b. 87 fA.#HY./mm
c. 50 fA.# . /mm

d. 102 fA.#r./mm

Tappet clearance is measured using

a. & g yAT/Screw pitch gauge
b. ATSHIHICI/Micrometer

c. BreR JAT/Feeler gauge

d. afeRR SfaR/Vernier calipers



Magnetic sensor is a part of

a. efidere guTrell/Cooling system
b. TAgT 9UTell/Lubrication system

c. ABS
d. ardrefepefet guTret/Air Conditioning System

40. 3T AT dT VU W, TR ........... H Ferge g gl
At high altitudes, turbocharger helps to

a. Sofe el &I &# Hial/reduce engine vibration

b. afFa A9 Fe=/increase power output

¢. 3cHold &H F/reduce emission

d. ehraferd arg 37daguT/cool intake air

41.R1342 ..o, I TH YR Bl
R134a s a type of

a. sl dlel/brake fluid
b. efrafer/coolant

c. Tagd/lubricant

d. wfrdeh/refrigerant

42. SOHC V-8 &5 # Tohdel heAoe &7
How many camshafts are there in a SOHC V-8 engine?

a. Th/One
b. gl/Two
c. die/Three

d. IR/Four

10



43. 715 3FA Sl # FAFCIAASE AT gl
Electrolyte in a lead acid battery is dilute ....

a. gT8gIFellReh 31Fal/Hydrochloric acid

b. §eFgRe 3Fl/Sulphuric acid
c. Asfed 31Fal/Nitric acid

d. 8 RIFaEs/Lead peroxide

44, 3mepede fpamfafer . o geafaa gl

The Ackerman mechanism is related to

a. 39T ROT da/Fuel feed system
b. §GROT YuTTell/Transmission system
c. HdTelsT YUTTell/Steering system

d. TIgaT Yutel/Lubrication system

45, SIS U568 AFEY olich 3Tl IEAT &, TT oo |
When the child safety lock is ON:

a. Xarel I 376X & @il ST FehdT g/The door can be opened from inside
b. eaTet F FEI T TrAT Al ST FohdT &/The door cannot be opened from outside
c. g3 eIaret 319+ 3T & ¢ & Smuai/All the doors will be closed automatically

d. EIATer T 3ieX ¥ AGr @rell ST ThdT &/The door cannot be opened from inside

46.2° FT AEAR oo, gl

The expansion of a’ is

a. 3xa
b. ata+a
c. 3x3x3

d. axaxa

11



47. 33T ook oAk & 3eT Golel ool BT Bl ..o iAad &

The presence of engine oil inside the radiator filler neck, could indicate

a. IYquT I3AeT g9 Fu/Defective radiator pressure cap
b. arfaarea fafeisy &8 dadhe/Damaged cylinder head gasket
c. AqoT ¥AfEE area/Defective thermostat valve

d. @qut de dq/Defective oil pump

48. ToleT ol T IRETT (HIF-TFeA) ............ gl

Cross-section of an Allen key is

a. gaT/Square

b. 9gST/Pentagon
S

c. ¥¢Hsl/Hexagon
9

d. E(Ifﬁ'&'/Circular

49, oo, & HRUT 235 s Us & dfd Siise ygad e i gl

The ball joints are used on the tie rod ends, because they

a. 3c9esl Id I ATAT HI A de1/Reduce the amount of noise generated
b. @doT gfaRIeY fr AT A FH HA/Reduce the amount of sliding resistance
c. o T F U 3oy faem3tt 7 Foiaet Gareret i sregAfar &o

Permit movement of the suspension both vertically and in other directions

d. 9o F=ROT aIfd T URA/Improve the force transmission speed

50. 33X df@T (Feets) &g ... o AT g €1

<A

The radiator finned tubes are made of

a. geIdl oligl/Cast iron
b. 1:'T~:|."ﬁ|'i?i'éir-':r/Alurninium
c. Yrdoi/Brass

d. 3&urd/Steel

12



51. faegaReh fou & whrel, goeh, WASR Foolel T T Toldl & FAFLIS ............
Black, dry, fluffy soot on insulator tip and electrodes of spark plug indicate

a. 3URLTRAT 3r93Ted é'a?r/arg fAs01/Overly lean fuel/air mixture

b. 3TRLRAT gTed éﬂ?r/aq fAsro1/Overly rich fuel/air mixture

c. da Raex fAaferstt & ST @ gem/Oil may be leaking into cylinders
d. RfFa 318 Tiar g/gap is too wide

52. FAfET Tolid & 39AFT & HROT oo T H FUR 3T &

Characteristics that is improved by the use of cylinder sleeves is

a. IREYUT &I Ahei/Resistance to wear

b. efrdere gaTar/Cooling efficiency

c. Tga fasargs1/Lubrication performance
d. 378 ¥ FI$ 7E1/None of these

53. AiferAied e Jomel &, Saolel Heell T AP ........ccoo...... F fav gl

In an automotive electrical system, the role of ignition coil is to

a. 3189 YRS AeY/Drive starter motor
b. T faaRO/Distribute spark

c. deedr SglAT/Step up voltage

d. aleedr && TEAT/Step down voltage

54. defr & IARA(TS) g & TAT, SoFgionse H fAfse gadca ................ gl

As the battery charges, specific gravity of electrolyte

a. dgdi/Increases
b. gedi/Decreases
c. AT T@dT g/Remains the same

d. 3gH @ :S A8/ None of these

13



55. RfeisT selleh & foT ggerd verd ... gl

The materials used for cylinder block are

a. Tofdl olIgT JdUT S¥4Td/Cast iron and steel

b. gIaT SNgT aAT Uﬂﬁﬁm fﬁ'ﬂiﬂq/Cast iron and aluminium alloy
C.3HId Uﬂﬁﬁm ﬁ'&iﬂ?or/Steel and aluminium alloy

d. 9idel @ g¥9Td/Brass and steel

56. 7a*+14a &M IOTTES ................ &ar &l
The factorization of 7a’+14a gives

a. 7(atz)

b. 21a

c. 7(atl)

d. 7a(at2)

57. 2% (-3X) T AT .oovereennn, gl
The value of 2x (-3x) is

a. 5x°
b. -6x
c. -5%°
d. -6x°
58. 8 @ oo Y Fga &l

Damper is also known as

a. QMfeh 31e@aY/Shock absorber
b. UasT ©8/Torsion bar
c. F&9e1/Spring

d. T8 8/Tie rod

14



59. gaTelet & aRTeT T &7 FEY ... % HRUT g FohdTl &l
Clashing of gears while shifting could be due to

a. $ofel 31EYWeI/Engine misalignment
b. 3UETAT 3189 Fof/Sheared drive key
c. a’rsrq\v‘r degehleren/defective synchronizer

d. a’l'q'EI'\U‘f 31ashel/Defective differential

60. AT F oooovennn &1 eufar & Forg # 3TaTel WUIRVTEAT SAET G el B

Clutch noises are usually most noticeable when the engine is

a. cad¥vl/Accelerating
b. FgsT/Decelerating
c. fAfSras/1dling

d. Tre] A HHI/Being started

61. A 2p, 4q, 8r &I TS, TS T FUS A Yod HAADR qFH T ITAA ... gl
The volume of a rectangular box whose length, breadth and height is 2p, 4q, 8r respectively is

14pqr
2p+4q+8r

ISR

°

64pqr
64

&

62. S USHT HA WA W, sh R ALT s @ @ 96 oed & FIRC.........
T IR ST F qET AT ¢

Movement of the brake pedal forces brake fluid from the master brake cylinder through brake
lines and into the

a. sl [/Brake shoes
b. &grer fAfeE/Wheel cylinders
c. & higel/Brakes cables

d. 9so IUs/Pedal rod

15



63. odoledl IHT FATANGT ¥ & [T SI9-8 3UH0T &7 39T fHam Srar g2

Which instrument is used for adjusting the ignition timing?

a. JATY Felien/precision clock
b. ¢RI/ Tachometer
c. Teraara/Stopwatch

d. TEIERERIdT genTar/Stroboscopic light

64. FTT &F oo T A HT Y faarTs 1 3UAT F ATE AgT fhAr ST anfeu|

Parts of the clutch that should never be cleaned using solvent are

a. gt 3m3¢ SIR@r @ Y91/ Throw out bearing and springs
b. aYoT 3% Ha/Friction disc cover
c. a¥uT 3% T 9T 3m3c sARAM/Friction disc and throw out bearing

d. Relier &ffax g f¥991/Release levers and springs

65. TFT TTeT dod H 3T ﬁaga gfeaRTer 82230V 60 W aT 230 V 100 W #]|
Which light bulb has higher electric resistance? 230 V 60 W or 230 V 100 W

a.230 V6O W
b.230 V100 W

c. aldAt & TATT gfeRier g/Both have equal resistance

d. gerer Sedl # gfaRier g gidr/Light bulbs do not have resistance

66. APE F gESET H ITT AET .o F HROT gl

The high levels of hydrocarbons in exhaust is the direct result of

a. 3Td dY ¢gdl/high temperature combustion
b. fAFT a9 gg=/low temperature combustion
C. my‘r Sgdl/incomplete combustion

d. 84T T T UTAT/poor quality of fuel

16



67. % FEIT v & HRUT FYROTAAT IAH g SATdl gl
Leaf springs generally fail due to

a. H&TRUT/corrosion

b. T g&EY & T@Ts/rubbing each other
c. Hifa/fatigue

d. Wﬂ/buckling

68. T TETIT ... $r T T & AT fHr Frar gl

Growler test is conducted to check

a. T SF/air brakes
b. ggaiferd sieh/hydraulic brakes
c. TaTeld s/steering function

d. #eX &1 Ay/insulation of a motor

69. U FIRIOT &1 ITUR 15 A7 qur 12 .8, &1 g &ahel @ Jad 3 Fepior, S mur
208 R, T IS oo gl

The base of a triangle is 15 cm and height is 12 cm. The height of another triangle of double the
area and base of which is 20 cm is given by

a. 9F.H/ecm
b. 18 F.#f/cm
c. 8&.H/em

d. 12.58.fH/cm

70.25 cm x 20 cm X 5 cm & 3MIAR Solieh H 4 @A, =4 g 7 QAL TGS § ok AT AT
YR &g 3o fhr a1 &1 3 g1y &1 gdca 8 g/ cc &, a sdlteh &1 3ifad gegaATT uar
eI
In a rectangular block of 25 cm x 20 cm x 5 cm, two identical cylindrical holes are drilled, having

4 cm diameter and 7 cm depth. If the density of material is 8 g/ cc, find the final mass of the
block.

a. 18.6 kg
b. 19.3 kg
c.20.1 kg
d. 17.8 kg

17



71. Th R R & AT THfT S oo gl
The normal inflation pressure for a car tyre is

a. 30 pound
b. 30 kg

c. 30 kg/ cm?
d. 30 psi

72. Teh fOECe T SO A9 g Hed HE SR gl

Most accurate tool to measure the diameter of piston is

a. af7ax &feraR/Vernier calipers
b. STET ATSHIACI/Outside micrometer
c. IS JATH/Depth gauge

d. 3/ger gAT/Dial gauge

73. 3Mefoeh Tl eiel Sofel #, a1  $U .............. # BT & s g

In a modern automotive petrol engine, air and fuel are mixed in

a. ggo haT/Combustion chamber
b. g&fareR/Turbocharger
c. g fee/Air filter

d. ssToic AfA®wIes/Inlet manifold

74. @S HaATfdd TG A AT FoloT ..o & FRUT Gl & FohdT ¢l
Running engine in a poorly ventilated space can be hazardous because of

a. faswIffa T A CO/CO in exhaust gas
b. faswif@a & & NOx/NOx in exhaust gas
c. faswifaa 3 7 St arsa/Water vapor in exhaust gas

d. faFT T2gd/Low visibility

18



75. f&w 317 Ashedl & ¥, XY argar & [adeH(Rwi=rme) & o gaw 3T Tes &1 a9 HL|

From the given options, select the most suitable lubricant for differentials of a heavy vehicle

a. WD40
b. 75W90
c. IOW30

d. #18r IMA/Heavy grease

76. R T F &L BT o o gd gl

Rate at which work is done is also known as

a. Fail/Energy

b. g1 mﬁ (eTh)/Torque
c. erfFd/Power

d. Stscd/Inertia

77. W1 JFA WesT .o &1 fAserd g

Lead-free solder is an alloy of

a. Uﬂﬁﬁm g fea/Aluminium and tin
b. f&sT @ f@eaT/Tin and silver

c. feax @ dienSilver and copper

d. feay g wrEawRA/Silver and phosphorus

78. Uah AT dTed I UgATT ST Thdl & ooveeee.. I
An exhaust valve can be identified as having

a. 3IAIEUT dTed A 3T <gr&/larger diameter than the intake valve
b. 37TIEUT dled ¥ B A&/smaller diameter than the intake valve
c. 3IAAEVT aled § AHU/smoother than the intake valve

d. 37TIE0T ared ¥ wdred T/brighter colour than the intake valve

19



79. FR I GIfhaT dh TIROTAAT ... W IAF sk ST B
Parking brake of a car generally applies mechanical brake on

a. 33T & gfgdi/front wheels
b. 91 & Yfgdi/rear wheels
c. 3 g WIS &t & 9fgW/both front and rear

d. $FpeTFe T offeh T Sar &/locks crankshaft

80. STef Tsh SR Hscll &, dl TohideT egRar ... FIr Bl

When a car turns, Ackerman steering makes

a. 3T T ST UiRdT, IR 9fRT & o a3 lor A F3aAT §
the front outer wheel turns larger angle than the inner wheel
b. 3T &7 AR afgar, sl afeT & o 93 FIoT H H3T &

the front inner wheel turns larger angle than the outer wheel

c. 3 & @ ufgw FAT feam F Az
front two wheels turn the same angle

d. |l IR aRRw vk & few F g

all four wheels turns the same angle

sk sk ok ok ok ok ook ke skoskok
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